HOME4TECHS, 9/7/15
An NSF Funded Project
Lab 22: SLC-500 Sequencer Output Lab

Objective of this Lab Exercise:
Upon completion of this Lab, the student should be able to:
1.	Explain how a Sequencer Output instruction works.
2.	Explain each of the parameters and addresses shown on the SQO instruction.
3.	Enter specified data into Integer Data Files.
4.	Explain the purpose and operation of the Mask value.

Key in the following program Offline.  Name the processor: 500SQO.
Download the program, put the controller into the run mode, go Online and do the various tasks in the Lab.
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Figure 1.  Sequencer Output instruction in a ladder program.


The following parameters on the SQO are as follows:
File - The file (sequential words) that hold the data for each step of the sequencer.  The Pound sign in front of the address, means that it is a File.
Mask - The word that holds the masking data.  This value can be keyed in, in any format view: binary, BCD/Hex, Integer.
Dest - This is the output word that the value in the file is written out to according to the position on the file.  If the position is 3, the value from word N7:52 is written into word O:2.0.
Control - The control element (R6:0) keeps track of the length and position of the file.  
Length - Is the length of the file, or the number of steps in the Sequencer.
Position - Is currently where the position pointer is on the file.
In the Project tree (left hand side of the RSLogix500 screen).  Double click on the N7 data file folder. 

Enter the values into the N7, Integer file as shown in the following data view.  N7:49 has a value of 255 in it.  N7:50 has a value of 0 in it, and N7:65 has a value of 15 in it.
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Figure 2.  The values to put into the data file.


Procedure:
1.	Turn off Input_6, then press Input_1 three times.  What is now the value in the Position 
word in the SQO instruction?

Which outputs are on?

2.	Turn Input_6 on.  How does this affect the operation of the SQO instruction?


3.	Change the timer preset value to 100.  How does this change the operation?


4.	Open the N7 Integer File.  Change the Radix (data view) to Binary.
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Figure 3.  Entering the Mask data into the data file.


5.	Change the data in word N7:56 to turn on bits 0-7.  What step (position) is this?

	Cycle the sequencer through its steps to verify that all the outputs come on at that step.










Questions:
1.	Explain what the MASK value does in the SQO instruction.


2.	What advances the position Position value in an SQO Instruction?


3.	What value (Hex) would have to be in the MASK word if the user wanted to control bits 
0, 1, 2 & 3 in the Destination (Dest) word?


4.	In the 500SQO lab, when Input_6 is on, how often does the SQO step?


5.	Change the timer preset value to 200.  How will this change the operation?


6.	What does the # (pound) sign indicate in front of the address on the File parameter of the 
SQO?


7.	When the Sequencer Output is on Position 4, what output(s) will be on?


DOL DISCLAIMER:
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